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Note : There are two sections in this paper, 
Section A and Section B. All questions in 
Section A are compulsory. From Section B, 
answer any three questions. 

SECTION A 

1. Answer the following objective type questions by 
selecting one best choice from the given choices. 
Each question carries 2 marks. 10x2=20 

(a) In computer network terminology, UTP is 
(1) Uniformly Terminating Port 
(ii) Uniformly Terminal Pair 
(iii) Unshielded Twisted Pair 
(iv) Uniformly Twisted Pair 

(b) A railway track is an example of 
mode of communication. 

(i) simplex 
(ii) half-duplex 
(iii) full-duplex 
(iv) multi-duplex 
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(c) Which of the following can be called the 

brain of the computer system ? 

(i) ALU 

(ii) CPU 

(iii) Memory 

(iv) Control Unit 

(d) Microprocessors as switching devices are for 

which generation of computers ? 

(i) First Generation 

(ii) Second Generation 

(iii) Third Generation 

(iv) Fourth Generation 

(e) CD-ROM is a type of 

(i) Memory Register 

(ii) Magnetic Memory 

(iii) Semiconductor Memory 

(iv) None of the above 

(0 The ALU of a computer responds to 

commands given by the 

(i) Hard Disk 

(ii) Cache Memory 

(iii) Control Section 

(iv) Primary Memory 
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(g) Which format is used in computers to store 
data ? 
(i) Decimal 
(ii) Binary 
(iii) Octal 
(iv) Hexadecimal 

(h) Which generation language is Assembly 
language ? 
(i) First 
(ii) Second 
(iii) Third 
(iv) Fourth 

(i) Which of the following programming 
languages is suitable for website 
development ? 

(i) C 

(ii) C++ 

(iii) SQL 

(iv) HTML 

(j) How many Kilobytes are there in 10 
Megabytes ? 

(i) 10000 Kilobytes 

(ii) 10240 Kilobytes 

(iii) 1024 Kilobytes 

(iv) 1000 Kilobytes 
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2. (a) Differentiate between System software and 
Application software. 	 5 

(b) Explain the advantages of IC technology. 	5 

3. (a) Define Multiprogramming. Explain its 

importance. 	 5 

(b) Compare Circuit switching with Packet 

switching. 	 5 
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SECTION B 

Note : Answer any three questions from the following. 

4. (a) Compare Semiconductor, Magnetic and 

Optical memories along with examples for 

each. 	 10 

(b) What is a Computer Virus ? How is it 

classified ? Explain the different types of 

viruses giving examples. 10 

5. (a) How do the CPU and Memory work 

together to execute an instruction ? Use an 

example to explain it. 	 10 

(b) Explain CISC and RISC architectures with 

the help of their functional block diagrams. 	10 

6. (a) What are the different types of Printers ? 

Explain each with an advantage and a 

disadvantage. 	 10 

(b) Explain the tools and techniques used for 

finding and gathering requirement 

specifications. 10 
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7. (a) Compare between third and fourth 

generation languages. Also, give examples 

for each. 10 

(b) What is Batch Processing ? How is it 

different from Online Processing ? Explain. 	10 
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